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L (25 paines) You were reading an annual report for a company in Taiwan that you have substantial investment in.
One of the foainotes reads like the following

Inceme tax

Lifective 1995, the Company adopted Financial Accounting Standard No. 22, "Accounting for fncome Tuxes,”
wnder which the tax effecrs of deductible temporary differences and operating loss carryforwards are
recogiized as deferred fux axsets and those of taxabie temporary differences are recognized as deferred tax
fialilities; vatuetion allowance is provided for deferred tax assets that are not certain (o be realized

a. Please explain whal are the major changes made in the new Standard for income (axes. {5 points)

b. Pleasc explain what are temporary differences and what are permanent differences. (3 points)

¢. Please give une example cach (o explain in what conditions will 2 company recognize deferred tax assels and
deferred tax Habilities. (5 poinis)

d. Please explain what are operating loss carrylorward and how should it be recognized in a company’s {inancial
statements. (5 points)

¢. Il you want to do a financial statement analysis on this company, how should you approach the tax jssue? {5
poinis)

2. (23 points) The following is a record of Casper Company’s transactions for the radios it sold for the nonth of
March 1998:
May 1 Balance of 400 units at $20 cach
May 10 Sold 300 units at $38 cach
May 12 Purchased 600 units a{ $25 each
May 3¢ Sold 500 units at $38 cach
May 31 Purchased 400 units at $30 cach

a. Assume that Casper uses the periodic inventory method, please compute the amount of cost of goods sold fur
March 1998 under (1) first-in, Jirst-out assumption and (2) last-in, [irst-out assumption, ([5 points)
b. Please explain what is “inventory profit”, what is ils impacts on-financial statement, and in what silualions
will a company have inventory profit, {5 points)
- ¢ Please explain what is an invenfory liquidation, what is its impacts on financial statement, and how could
Casper’s management intentionally induce an inventery liguidalion. (5 poinls)

N
. 1y -~ . . - . >
3. (:w poinfs) “The following are a Consolidated Statement of Earnings and Retwined Eamings and a partial 5/\-
Statement of Casit Flow for 1997 for the NCU Corporation, }'
o NCU Curporation NCU Corporation 'I;l:-
‘ ]‘('}l‘ tlie Year Ended December 31, 1997 Consslidated Statenmient of Cash Flows "";'
Consolidadcd Stalement of Earvings and Retained For the Year Ended December 31, 1997 /J
Earnings Mel carning
SAlES e e $339.070 0o "St"'“_ """" ilo el o e 85,790
Costofsales ..o 390,192 e ncpls ¢ recona ‘?“el catmings to net
Gross profit _'5}’;‘4*_8’8?8 cash provided by operating activities
Selling and administaiive expenss o 45;121 | Bu;;r;s:i:;i::;:ne eamed on zero-coupon bonds ..., (65 ]é‘rslg
I(zll)::rlj:?l?ﬁclcl:il(gnc ----------------------------------- %;; Sé Amgartization of premium on notes receivable ... , 7
i : e DR T ’ Loss on sale of property, plant, and equipment ......... &7
ain {loss) ou salcs of property, plant, Waorking capital § . '
and equipment - orkmg captal eins:
uid € BRI LR U BT (&) Accounts receivable ..o {6,781)
Eamings before income taxes ... $9,370 Inveniorics 6354]
;r;comt? TAXES o, 3,580 Interest receivable. ... (193)
et carnings e, $8,790 Other current assets ..o (253) p—=m—em
. ) Accounts payable, trade ... 2719 ;FE‘) _]
Retained carings Accrued Rabitities ... ... 605
Balance at beginning ol ycar 351,626 Income taxes payable ... 127{
:\dd: ?CE[CE:]!‘FIITJ[.{S d] ................ 5.1H) Tolal {ld_leSU‘Ime |7 483} Al
_ess: Cash dividends paid ... 5,384 Nef cash provided i ati {viti : *‘@
et ash provided by (used in) operating activities { 93!
Balance atend ofyear ... ... $152,032 & o B 2 @
a. Please convert the above opeiating cash flow section of the Srarement of Caslr I'ow from indirect method (o :RTIE
dircet method. “Please stale your assumptions clearly if you need to do so, (20 points) .
b. What ate the advantages and disadvantages in presenting “Cash flows From Operating Activities” using the H" .
direct method over the indircet method? {5 points) ’,“‘- '4@2

¢ Please give tvo examples each for items that should be inctuded in “Cash Flows From nvesting Activities”
and “Cash Flow. - om Finoneing Activities™, (5 points)
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4. (20 points) Recently, U.S. Intermational Trade Commission (ITC) made a decision to impasc punitive tariffs of
up to 113.85 percent on static random aecess memory (SRAM) chips from Taiwan. In a split decision, the ITC
decided to uphold a finding from the U.S. Department of Commerce that SRAMs imported from Taiwan have
been sold at less than their production costs. The SRAM ruling is not expected to bave a tajor affect on
Taiwanese chip makers, because most major producers here only export a small amount of their SRAMs to the
118, The ruling, however, still resulted in a major selling of semiconductor shares on the Taiwan Stock
Exchange.  Winbond Electronics Corp.’s stock that week dropped to N'T$62, down by NT$0.50, while fellow
SRAM maker United Microelectronics Corp. saw its stock price fall NT$2 to NT$76. Taiwan's industry also is

- concerned about other IC products, including DRAM microchips.  Many local IC firms say they fear that this
SRAM-dumping case is only a prelude 1o a global sales war over DRAM chips, which account for more than half
of all memory chips sold last year.

In order to bring up the anti-dumping activities, selling price of SRAMs must be proved to be lower than their
production cost. It is interesting to realize fater that when the Commerce Depariment sent auditors to the
production sites of SRAM 1o determine actual production costs in late 1997, the cost structutes of Taiwan's
SRAM makers were parlially exposed  The United States include dividends (mostly shares of stock) distributed
to employees at market vatue as part of production costs, but Tajwan-based firms consider such honus to be
afler-tax profit shating.  Therefore the cost calculated by the Commerce Department is much higher than what
the SRAM makers allege,

a. Stock-based compensation plans have becomce a major part of executive pay. Please discuss wiiat is the nature
of these plans, (5 pornts)

b. Please discuss, based on generally accepled accounting principles, how should these stock-based
compensation plans be reported for companies offering these plans? {10 points)

b. What are the new requircments regarding these stock-based compensation plans in the ncwly issued TASE
Statement No. 123 in the United States? (5 points) '
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